

Sufficient conditions for the oscillation of solutions of third-order neutral difference equations with alternating coefficients

Hala Majid Mohi [†]

Department of Chemical Engineering

College of Engineering

University of Baghdad

Baghdad

Iraq

Intidhar Zamil Musht ^{*}

Maysaa Zaki Salman [§]

Department of Mathematics

College of Education

Mustansiriyah University

Baghdad

Iraq

Hussain Ali Mohamad [‡]

Department of Mathematics

College of Science of Women

University of Baghdad

Baghdad

Iraq

Abstract

This study deals with 3rd-order difference equations with alternating coefficients (NDEAC) with a focus on studying the oscillatory properties of their solutions. An additional sufficient condition can be derived to ensure continuity for the oscillatory solution in equations. An applied example is presented to illustrate the theoretical result obtained.

Subject Classification: 39A10, 39A13.

Keywords: Bounded, Difference, Alternating coefficients, Oscillation property, Third order.

[†] E-mail: Hala.M@coeng.uobaghdad.edu.iq

^{*} E-mail: intidhar.z.musht@uomustansiriyah.edu.iq (Corresponding Author)

[§] E-mail: maysaa_zaki@uomustansiriyah.edu.iq

[‡] E-mail: hussainam_math@csu.uobaghdad.edu.iq

1. Introduction

The remarkable development was observed in study for oscillatory behavior of solutions of neural difference equations with delay, especially when there are positive and negative coefficients in the 1st- and 2nd order equations (see [1-3]). Some authors studied the oscillation and behavior asymptotic of different types of delay equations, including [4-9]. In [9], the authors study oscillatory behaviors for the solution for neutral-type linear's difference equations, which includes Alternating coefficients.

$$\Delta^2(q_v - t_v q_{v-a}) + y_v \mathcal{F}(q_{v-\ell}) - k_v \mathcal{F}(q_{v-z}) = \mathfrak{C}_v \quad (1)$$

where

- $\Delta = q_v = q_{v+1} - q_v$
- $y_v, k_v, \mathfrak{C}_v$ are infinite sequences with $\mathbb{R}$ numbers.
- $y_v, k_v \in \mathbb{R}^+, a, \ell, z \in \mathbb{Z}^+, \mathcal{F}: \mathbb{R} \rightarrow \mathbb{R}$, satisfy $q_v \mathcal{F}(q_v) > 0$.

It is worth noting that equation (1) belongs to the class of 2nd-order NDE.

In this paper, the oscillations in all finite solutions of 3rd-order (NDEAC) are studied:

$$\Delta^3(q_v - t_v q_{v-a}) + y_v \mathcal{F}(q_{v-\ell}) - k_v \mathcal{F}(q_{v-z}) = \mathfrak{C}_v \quad (3)$$

This research aims to derive novel sufficient condition that guarantee oscillations for any solution for the equations (2). This study be based on following assumptions:

$$(H_1) \sum_{a=v}^{\infty} \sum_{j=a}^{\infty} \sum_{i=j+z-\ell}^{j-1} k_i < \infty$$

$$(H_2) \exists \text{ sequences } \{Q_v\} \text{ s.t } \Delta^3 Q_v = \mathfrak{C}_v \text{ \& } \lim_{v \rightarrow \infty} Q_v = 0;$$

$$(H_3) j_1 q \leq \mathcal{F}(q) \leq j_2 q, \text{ where } j_1 \text{ and } j_2 \text{ positive constant.}$$

2. Sufficient Conditions for Oscillations of Equation (2)

Let

$$\mathcal{K}_v = q_v - t_v q_{v-a}, \quad (3)$$

Let the sequence $\wp_v$ be defined as

$$\wp_v = q_v - t_v q_{v-a} - \sum_{a=v}^{\infty} \sum_{j=a}^{\infty} \sum_{i=j+z-\ell}^{j-1} k_i \mathcal{F}(q_{i-z}) - Q_v, \ell > z \quad (4)$$

Theorem 2.1: Suppose that, $0 \leq t_v \leq 1$, $k_{v+z-\ell} > y_v$ and expectations $(H_1 - H_3)$ hold on, moreover,

$$\liminf_{v \rightarrow \infty} j_2 \sum_{r=\varepsilon}^{v-1} \sum_{j=r}^{r+\omega} \sum_{i=j}^{j+\rho} (k_{v+z-\ell} - y_i) > \left(\frac{\varepsilon}{\varepsilon+1}\right)^{\varepsilon+1} \quad (5)$$

$\ell > \rho, \omega, \varepsilon = v - (\ell - \rho - \omega - a)$ then all solutions to Eq (2) oscillate.

Proof: Let Eq (2) admit non oscillatory solution, let $q_v > 0, v \geq v_0$. Then, Eqs. (2), (3) and (4) we obtain $\Delta^3 \wp_v = (k_{v+z-\ell} - y_v) \mathcal{F}(q_{v-\ell}) - Q_v$

$\Delta^3 \wp_v = (\kappa_{v+z-\ell} - \psi_v) \mathcal{F}(q_{v-\ell}) - Q_v$, Since $\lim_{v \rightarrow \infty} Q_v = 0$, then for v_1 large enough such that

$$\Delta^3 \wp_v = (\kappa_{v+z-\ell} - \psi_v) \mathcal{F}(q_{v-\ell}) \geq 0 \quad (6)$$

Hence, from (6), We conclude that $\Delta^2 \wp_v$ is nondecreasing therefor $\Delta \wp_v$, $\wp_v$ are monotone sequences, So either $\Delta^2 \wp_v < 0$ or $\Delta^2 \wp_v > 0$ for $v \geq v_1 \geq v_0$. Assume that $\Delta^2 \wp_v > 0$ it follows that $\Delta \wp_v > 0$ and $\wp_v > 0$ and $\lim_{v \rightarrow \infty} \wp_v = \infty$, which implies that $q_v \rightarrow \infty$ a contradiction. Hence, $\Delta^2 \wp_v < 0$, So either $\Delta \wp_v < 0$ or $\Delta \wp_v > 0$ for $v \geq v_2 \geq v_1$.

1. $\wp_v < 0$ and $\wp_v \rightarrow -\infty$. Since q_v is bounded, and $\limsup_{v \rightarrow \infty} q_v = h^*$, $h^* \geq 0$, so it's there a subsequence $\{v_j\}$ so as to $\lim_{j \rightarrow \infty} v_j = \infty$, and $\lim_{j \rightarrow \infty} q_{v_j} = h^*$. From (4) we get

$$q_{v_j} \leq \wp_{v_j} + \tau_{v_j} q_{v_j-a} + j_2 \sum_{a=v}^{\infty} \sum_{j=a}^{\infty} \sum_{i=j+z-\ell}^{j-1} \kappa_i q_{i-z} + Q_{v_j}$$

Since q_v is bounded and by lemma (1.5.5) in [10] ($\sum_{a=v}^{\infty} \sum_{j=a}^{\infty} \sum_{i=j+z-\ell}^{j-1} \kappa_i < \infty$) and $\lim_{v \rightarrow \infty} Q_v = 0$ then we obtain $q_{v_j} - q_{v_j-a} \leq \wp_{v_j} + Q_{v_j}$

so $-q_{v_j-a} \leq \wp_{v_j} + Q_{v_j}$, for large j , $q_{v_j} \rightarrow \infty$ a contradiction.

2. For $\Delta \wp_v > 0$, $\Delta^2 \wp_v < 0$, $\Delta^3 \wp_v \geq 0$, we have two cases:

2.1: For $\Delta^3 \wp_v \geq 0$, $\Delta^2 \wp_v < 0$; $\Delta \wp_v, \wp_v > 0$, $v \geq v_2 \geq v_1$ then it's there $\gamma > 0$ so as to $\wp_v \geq \gamma > 0$ for $v \geq v_2 \geq v_1$. Since q_v is bounded, and $\liminf_{v \rightarrow \infty} q_v = h_* \geq 0$, then it's $\{v_j\} \subseteq \{v\}$ so as to $\lim_{j \rightarrow \infty} v_j = \infty$, $\lim_{j \rightarrow \infty} q_{v_j} = h_*$. From (3) we get,

$$q_{v_j} \geq \gamma + \tau_{v_j} q_{v_j-a} + j_2 \sum_{a=v}^{\infty} \sum_{j=a}^{\infty} \sum_{i=j+z-\ell}^{j-1} \kappa_i q_{i-z} + Q_{v_j}, q_{v_j} > \gamma + q_{v_j-a} - \varepsilon$$

Since ε is arbitrary, for every $j > \mathbb{N}$ (where $\mathbb{N}$ is a sufficiently large natural number), we can conclude that when: $q_{v_j} > \gamma + q_{v_j-a}$, when considering the limit when $j \rightarrow \infty$, we get $h_* \geq \gamma + h_*$ which contradicts itself.

2.2: For $\Delta^3 \wp_v \geq 0$, $\Delta^2 \wp_v, \wp_v < 0$; $\Delta \wp_v > 0$, $v \geq v_2 \geq v_1$

Taking the summation of both sides of (6), from v to $v + \rho, \ell > \rho$ we get, $\sum_{i=v}^{v+\rho} \Delta^3 \wp_{v_i} = \sum_{i=v}^{v+\rho} (\kappa_{i+z-\ell} - \psi_i) \mathcal{F}(q_{i-\ell})$ then $-\Delta^2 \wp_v \geq j_2 \sum_{i=v}^{v+\rho} (\kappa_{i+z-\ell}, -\psi_i) q_{i-\ell}$ Taking the summation of both sides of above inequality, from v to $v + \omega, \ell > \omega$ (7)

From (4) we get $\wp_v \geq -\tau_v q_{v-a} - \sum_{a=v}^{\infty} \sum_{j=a}^{\infty} \sum_{i=j+z-\ell}^{j-1} \kappa_i \mathcal{F}(q_{i-z}) - Q_v$,

$\wp_v > -q_{v-a} - \varepsilon$, Since ε is arbitrary, for every $j > \mathbb{N}$, we can conclude that when: $\wp_v > -q_{v-a}$, $q_{v-\ell} \geq -\wp_{v+a-\ell}$

Substituting the last inequality in (7) leads to

$$\Delta \wp_v + j_2 \left(\sum_{i=v}^{v+\omega} \sum_{i=v}^{v+\rho} (\kappa_{i+z-\ell} - \psi_i) \right) \wp_{v-(\ell-a-\omega-\rho)} \geq 0$$

Based on theorem 2.1 ii in [10] and on relation (5), so lasted inequality cannot has eventual negatives solutions, leads to contradictions.

Theorem 2.2: Take $0 \leq t_v < 1, y_v > k_{v+z-\ell}$ and $(H_1 - H_3)$, holds, in addition

$$\liminf_{v \rightarrow \infty} j_1 \sum_{r=v-\varepsilon}^{v-1} \sum_{j=r}^{r+\omega} \sum_{i=j}^{j+\rho} \frac{|k_{i+z-\ell} - y_i|}{t_{i-\ell+a}} > \left(\frac{\varepsilon}{\varepsilon+1}\right)^{\varepsilon+1} \quad (8)$$

$\varepsilon = \ell - \rho - \omega - a, \ell > \rho + \omega + a$, Then all bounded solutions to Eq. (2) are either oscillating or tend to zero.

Proof: Assume that Eq. (2) has a non oscillatory solution, let $y_v > 0, v \geq v_0$. Then, from Eqs. (2), (3) and (4) we obtain $\Delta^3 \wp_v = -(y_v - k_{v+z-\ell})\mathcal{F}(q_{v-\ell}) \leq 0$ (9) Hence, from (9) we conclude that $\Delta^2 \wp_v$ is no increasing therefor, $\Delta \wp_v, \wp_v$ are repetitive sequences, we assert that $\Delta^2 \wp_v > 0$ for $v \geq v_1 \geq v_0$, nonetheless, $\Delta^2 \wp_v < 0$ for $n \geq n_1$, thus, $\Delta \wp_v < 0, \wp_v < 0$ and $\wp_v \rightarrow -\infty$ as $v \rightarrow \infty$. From (4) we get $-\wp_v \leq t_v q_{v-a} + \sum_{a=v}^{\infty} \sum_{j=a}^{\infty} \sum_{i=j+z-\ell}^{j-1} k_i \mathcal{F}(q_{i-z}) + Q_v$.

Since q_v is bounded and by lemma (1.5.5) in [11]. $(\sum_{a=v}^{\infty} \sum_{j=a}^{\infty} \sum_{i=j+z-\ell}^{j-1} k_i < \infty), Q_v$ is bounded then form the last inequality we conclude that $t_v q_{v-a} + \sum_{a=v}^{\infty} \sum_{j=a}^{\infty} \sum_{i=j+z-\ell}^{j-1} k_i \mathcal{F}(q_{i-z}) + Q_v$ is bounded which is a contradiction. So $\Delta^2 \wp_v > 0$, hence either $\Delta \wp_v > 0$ or $\Delta \wp_v < 0$

- 1: $\Delta \wp_v, \Delta^2 \wp_v > 0, \Delta^3 \wp_v \leq 0$;
- 2: $\Delta^2 \wp_v > 0, \Delta \wp_v < 0, \Delta^3 \wp_v \leq 0$.

- 1: For $\Delta \wp_v > 0, v \geq v_1, \wp_v > 0 \lim_{v \rightarrow \infty} \wp_v = \infty, y_n \rightarrow \infty$ contradiction.
- 2: We have two subcases to consider:

2.1: Then it's there $\gamma < 0$ so as to $\wp_v \leq \gamma < 0$ for $v \geq v_2 \geq v_1$. Since q_v is bounded, and $\limsup_{v \rightarrow \infty} q_v = h_* \geq 0$ so $\{v_j\}$ so as to $\lim_{j \rightarrow \infty} v_j = \infty, \lim_{j \rightarrow \infty} q_{v_j} = h_*$. From (3) we get,

$$q_{v_j} \leq \gamma + t_{v_j} q_{v_j-a} + j_2 \sum_{a=v_j}^{\infty} \sum_{j=a}^{\infty} \sum_{i=j+z-\ell}^{j-1} k_i q_{i-z} + Q_{v_j}$$

For v_j large enough $\sum_{a=v_j}^{\infty} \sum_{j=a}^{\infty} \sum_{i=j+z-\ell}^{j-1} k_i q_{i-z} + Q_{v_j} < \varepsilon, q_{v_j} < \gamma + q_{v_j-a} + \varepsilon$, Since ε is arbitrary, for every $j > \mathbb{N}$, we can conclude that when: $q_{v_j} \leq \gamma + q_{v_j-a}$, as $j \rightarrow \infty$, consequently $h_* \leq \gamma + h_*$ which contradicts itself.

2.2 : $\wp_v > 0$: Taking Summation to (9) from v to $v + \rho, 0 < \rho < \ell - a$, Taking the summation of both sides from v to $v + \omega, \ell - a > \omega$ we get,

$$\Delta \wp_v \leq j_2 \sum_{i=v}^{v+\omega} \sum_{i=v}^{v+\rho} (k_{i+z-\ell} - y_i) q_{i-\ell} \quad (10)$$

From (4) we get $q_v > \wp_v - \varepsilon$, Since ε is arbitrary, we have $q_v \geq \wp_v$ Substituting the last inequality in (10) leads to

Based on theorem 2.1 i in [10] and on relation (8), it cannot have eventual negative solutions, which leads to a contradiction.

3. Examples:

This section is devoted presenting a set of applied examples that aim to illustrate the effectiveness of the main theoretical results, highlight the practical applications of the study, and provide numerical support for presented proofs.

Example 1: Examine the difference equation:

$$\Delta^3 \left(q_v - \left(\frac{1}{2} + \left(\frac{1}{2} \right)^v \right) q_{v-1} \right) + \frac{5}{32} \left(\frac{1}{2} \right)^v q_{v-4} - \frac{5}{8} q_{v-1} = \frac{15}{4} \left(\frac{1}{2} \right)^v \left(-\frac{1}{2} \right)^v$$

where $a = 1, \ell = 4, z = 1, \rho = 1, \omega = 1, \mathcal{F}(q_v) = q_v, j_2 = 2$

The following criteria of theorem 2.1 can be found to be true:

$$\liminf_{v \rightarrow \infty} 2 \sum_{r=v-1}^{v-1} \sum_{j=r}^{r+1} \sum_{i=j}^{j+\rho} \left(\frac{5}{8} - \frac{5}{32} \left(\frac{1}{2} \right)^i \right) > \left(\frac{1}{2} \right)^2$$

So, by theorem 2.1 each bounded solution oscillates, solution is $q_v = \left(-\frac{1}{2} \right)^v$

Example 2: Examine the DE:

$$\Delta \left(q_v - \left(1 + \left(\frac{1}{e} \right)^v \right) q_{v-1} \right) + \frac{(1+e)^4}{e^7} q_{v-4} - e^{-6} \left(\frac{1}{e} \right)^v q_{v-1} = \frac{(-1)^v (3+3e^2+e^4)}{e^{3+2v}}$$

$$\liminf_{v \rightarrow \infty} 0.2 \sum_{r=v-1}^{v-1} \sum_{j=r}^{r+1} \sum_{i=j}^{j+1} \frac{e^{-(n-3+6)} - \frac{(1+e)^4}{e^7}}{1 + \left(\frac{1}{e} \right)^{n-3}} > \left(\frac{1}{2} \right)^2$$

So, by Th 2.2 each bounded solution oscillates, $q_v = \left(-\frac{1}{e} \right)^v$ is such a solution.

4. Conclusion

This study presents a set of sufficient conditions governing oscillatory behavior for all finite solution of 3rd-order delayed neutrals difference equation with alternating coefficients. An analysis uses special mathematical sequences to achieve this goal.

References

- [1] A. Murugesan and K. Shanmugavalli, "Oscillation conditions for first-order neutral difference equations with positive and negative variable coefficients," *Malaya Journal of Matematik*, vol. 5, no. 2, pp. 378–388 (2017).
- [2] H. A. El-Morshedy, "New oscillation criteria for second-order linear difference equations with positive and negative coefficients," *Computers & Mathematics with Applications*, vol. 58, no. 10, pp. 1988–1997 (2009), doi: 10.1016/j.camwa.2009.07.078.

- [3] S. H. Saker, "Oscillation of second-order nonlinear neutral delay dynamic equations on time scales," *Journal of Computational and Applied Mathematics*, vol. 187, no. 2, pp. 123–141 (2006).
- [4] X. Liu, D. Deng, and H. Wang, "Oscillation of a nonlinear neutral difference equation with positive and negative coefficients," *Journal of Applied Analysis and Computation*, vol. 3, no. 2, Art. no. 32003 (2018), doi: 10.22606/jaam.2018.32003.
- [5] A. Jawad and A. F. Jaddoa, "On the existence and oscillatory solutions of multiple delay differential equation," *Iraqi Journal of Science*, vol. 64, no. 2, pp. 878–892 (2023), doi: 10.24996/ijs.2023.64.2.33.
- [6] I. Z. Mushttt, D. M. Hameed, and B. M. Alwan, "On oscillating outcomes for non-homogenous neutral difference equations of a third order," *Journal of Interdisciplinary Mathematics*, vol. 24, no. 5, pp. 1387–1395 (2021).
- [7] S. N. Ketab and S. F. Raji, "Oscillation and nonoscillation criteria for second-order half-linear neutral difference equations," *Journal of Interdisciplinary Mathematics*, vol. 25, no. 5, pp. 1525–1533 (2022), doi: 10.1080/09720502.2022.2087295.
- [8] H. A. Mohamad and S. N. Ketab, "Asymptotic behavior criteria for solutions of nonlinear n-th order neutral differential equations," *IOP Conference Series: Materials Science and Engineering*, vol. 571, no. 1, Art. no. 012034 (2019), doi: 10.1088/1757-899X/571/1/012034.
- [9] I. Z. Mushttt, H. M. Mohi, and I. H. Qasem, "Nonoscillatory properties for solution of nonlinear neutral difference equations of second order with positive and negative coefficients," *IJCET*, vol. 10, no. 1, pp. 462–468 (2019).
- [10] I. Györi and G. E. Ladas, *Oscillation Theory of Delay Differential Equations: With Applications*. New York, USA: Oxford University Press (Clarendon Press), pp. 368 (1991).
- [11] M. K. Yildiz, B. Karpuz, and Ö. Öcalan, "Oscillation of nonlinear neutral delay differential equations of second order with positive and negative coefficients," *Turkish Journal of Mathematics*, vol. 33, no. 4, pp. 341–350 (2009).

Received May, 2025